y=a’-8z
Vertex: y = z2 — 8z = 22 — 8z + 16 — 16 = (z — 4)? — 16. Vertex \
is at (4, —16).

z-intercepts: y=0 = O0=22-8z=2z(z—8). So z=0o0r )
z = 8. The z-intercepts are at z = 0 and z = 8.

y-intercepts: £ =0 = y =0. The y-interceptis aty = 0.

y =22 - 6z ' i
Vertex: y = 2z — 6z = 2(2* — 3z) = 2[1152 -3z + (%)2] -3 10
= 2(5”' - 3)2 - % Vertex is at (%,_%),
z-intercepts: y=0 = 0=222—-6z=2z(z—3) = z=0

or z = 3. The z-intercepts are at z = 0 and = = 3. SNt
y-intercepts: £ =0 = y = 0. The y-intercept is at y = 0. _E\/
y=z*+4zr+1 74

Vertex: y=z? +4z+1=a*+4z+4—-4+1=(z+2)? - 3. s

Vertex is at (—2, —3).

z-intercepts: y =0 = 0= 2?4+ 4z + 1. Using the quadratic = \j >
formula, z = -43:2\/ﬁ = '"‘&22‘/5 =-2+ \/5 The z-intercepts are at s
x=—2~\/§andx=—2+\/§.

y-intercepts: £ =0 = y = 1. The y-interceptisaty = 1.
y=a’+6z+8

Vertex: y =22 +6z+8 = (22 +6z) +8 = (22 +62+9)+8—9
= (z+3)? — 1. Vertex is at (=3, —1).

z-intercepts: y =0 => 0=2z>+6z+8(z+2)(z+4) =
T = —2 or = —4. The z-intercepts are at x = —2 and z = —4.

y-intercepts: £ =0 = y = 8. The y-interceptisaty = 8.

y=2x?+4z+3

Vertex: y = 222 + 4z + 3 = 2(x% + 22) + 3

=2 +2z+1)+3—-2 =2(z+1)2+1. Vertexisat (—1,1).
z-intercepts: y=0 = 0=222+4z+3=2(z+1)>2+1 <&
2(z +1)® = —1. Since this last equation has no real solution, there are

no z-intercepts.

y-intercepts: x =0 =y = 3. The y-intercept is aty = 3.




